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5mm and 2 mm respectively. Take EI=18000 KN-m
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Question number 1 is mandatory, answer any 2 full question from Q2 to Q4 MARKS | CO |RBT
Figure 1 shows a continuous beam ABCD, calculate the fixed end moments, if the 0] Co1| L2

end A rotates by 0.002 radians in clockwise direction and supports B and C sinks by
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2 (a)

Analyse the continuous beam shown in Fig.2.a by moment distribution method and
draw BMD, SFD and EC.
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3(a)

Analyse the continuous beam shown in Fig.3.a by moment distribution method and
draw BMD and EC. Consider that supports B and C sink by 8mm and 3 mm
respectively. Take, EI=2x10* kN/m?.
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4 (a)

Analyse the frame shown in Fig.4.a by moment distribution method and draw
BMD and EC.
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